XFDER XEA—b (AHHALETSR)

R
A :_j- et @E— | Foz )50 | rorsrammrir | wmz=—z ro| NJUSS |xazzy—zro|vy—szwrro H§ ,E& §j\ o lexs]| Ha “LEﬁLL
fEtRE—F 0-1 8-1 4—1 6—0 0-3 1-0 412]10[12]113]19| 4
rexzcsvy|  1-0 3-2 1-0 4-3 0-0 0-2 411111131 2] 9 3
)= X KB AMHFT)—AFC|IFCZART| |owmms] 1-8 | 2-3 1-2 | 2-0 | 0-3 1-4 | 1[5]0]3]-13 7] 6
FFFC KERY: -V XFEFRFC| V¥ mas=xro| 1-4 | 0-1 | 2-1 2-0 | 02 [ 1-8 |2|4]of6]-106] 5
X =L FCTARSUH NJSS 0-6 3-4 0-2 0-2 0-2 0-6 0]6] 0] 0/[-19] 3 7
sizzy—zre]  3—0 0-0 3-0 2-0 2-0 0-0 410214 0]10] 1
w-vxzrrs|  0—1 2-0 4-1 8-1 6—0 0-0 411 1]113[17]20] 2
AKHFzx FCt> kO
1)—XFC MR 1Z7 $1HEB 98178 (L) (15-5-15)30%
4L | BEFRE X B h — F T wEhE
M | 10:00 |#wge=—v| VS [<y—zxTEFC =S =&
REBEI—— @ | 10:40 |x#zzy—zro| VS NJSS IS i =
NJSS X.FC @ | 11:20 |#ez=—x.rc| VS |rctoromsya- S =S
. B = N s B YaZy I = =
@ | 12:00 |#wge-—r| VS [Fozzcso4 =& &
$F2HHB 9A18H (H) (15-5-15)30% @ 12:40 |=y—zxrre| VS |x#tFz)—XFc S =
B | RS x B H — F IE e ® | 1320 | NJSS | VS [s=s=—x rc I I
@ [ 9:00 |ewge=—+| VS [x#tFzy—xrc e % = @ | 14:00 [roevromessy| VS |FCTRRSUH th = % &
@ | 940 [<y—oxwmee| VS NJSS % & % & 14:40 |pwme-—r| VS NJSS % & % &
10:20 | xstzzy—xrc| VS |@mBz=—ZX.FC = = @ | 15:20 |<y—xwrrc| VS |mms=—x Fc S =
@ 11:00 NJSS VS FCEURREREY 127 3:’: = T;;:'J’J = 16:00 |x#zzu—xrc| VS FCEURRZKEY 17 ngll = Tﬁ: =
11:40 |<y—x=zrrc| VS |[FCTRRSUH S RS ) [ 16:40 | NJSS | VS [Foczzx5o+ h = th =
@ [ 12:20 |#wmpe=—r| VS [mes=—x rc = =
13:00 | x#5zv—xrc| VS |[FeczzARSL 4 S S
13:40 |<y—rxzzrrc] VS |retoromeyacy h = S
@ | 14:20 |ms=-—x.rc| VS [Fczz<54 S S
21 | 15:00 [##me=—v| VS |rotoromesacy = H =







